CB
EEMBIREABRARZRSELRE

CB* 821—84

REETRYUEX

1984- 05- 30K% 1985- 08 - 01506

SEMMREURARZERS it »



EEMMAREURARAZRES T L iRE

CB* 821—84
HE). 55
1& K ﬂéﬂ % % & g 5[< R&CB 82175
1 BREBSFRAELNEBNTIESHPERE L. & 2,
#z1
ARER AREH
xR & WK 5] 2] DN (DN/DN") kgf;;:;mz # o
mm (MPa)
hEE g
A | RGBSk
BATR | by ql.ll
’ - A
sk I::: SESSS 0 Y lf'l.‘
NWANNNY
3 ~32 <16 B W
(<1sn | B #
BEBEH
XEYE
€l mams
HEEH
D
R Hsk

SEMBMIFELERERS 1984 - 05 - 30R%H 1985-08 - 01356

1



CB” 821—84

3 REETREELAVEESHMBEE 3,

%3
k4 #% # o)
& # o= # | w08 & B
¥ Bk o1
RIBE A%k 02
B o] A 3F GB 700—79
HERE 03
o 5] 4 30 8% 3k 04 1) # QAl9-2 YB 458—71
BE A MREUEE Sk 05
ABHERA 1Cri8Nio9Ti GB 1220—75
b&-1 1.3 06
[-4 398, 20 07
* LI QB 365—63
ho® oA . Ll JC 125— 66
10 KRCAR
N ™ % QB 365—63
w B K
12 BIRREAR IC 125—66




CB* 821—84

4 ARIEY BIRGER A X ER T HE 1K 4.

WEFORYTS,
- ] A
j Q] Q t ] . s
T
N
I
1
& 4 mm
VAN W B L E3'8 SNER ®FFORT B kg
& 2 o 2
DN dw D L~ D~ Ky S, BN i IR v
3 6 M16x1.5 21.9 19 17 0.07 0.06 0.07
55
6 10 M18x1.5 25.4 22 19 0.09 0.08 0.09
8 12 M20x1.5 27.7 24 22 0.12 0.12 0.12
61
10 14 M22x1.5 31.2 27 2 0.14 0.14 0.14
15 22 M30x2 41.6 36 32 0.33 0.32 0.33
77
20 25 M36x2 48.5 42 38 0.41 0.40 0.41
25 32 M42x2 57.7 50 45 0.57 0.55 0.57
83
32 38 M 48 x2 63.5 55 50 0.63 0.62 0.64




CB* 821—84

§ BREAY BMAELANEER A 2% 5.

BFFORTS,

2
*® 5 mm
AW | mE |m g | EARSRE AERY+ | BFFORT| ® K ke
i B & & | kE a5
DN dw D Do Lo | L™ |Dv~| 5 | S | @ | AN e
3 6 M16x1.5 M10x1 8 65 21.9 19 17 0.07 0.07 0.07
6 10 M18x1.5 M14x1.5 69 25.4 22 19 0.10 0.10 0.10
8 12 M20x1.5 M 14x1.5 . 74 27.7 22 0.13 0.12 0.13
10 14 M22x1.5 M18x1.5 76 31.2 24 0.16 0.16 0.16
15 22 M30x2 M22x1.5 " 91 41.6 36 32 0.35 0.34 0.35
20 25 M36x2 M 27 x2 16 94 48.5 42 38 0.4 0.43 0.44
25 32 ) M42x2 M33x2 99 57.7 50 45 0.65 0.63 0.66
32 38 M48x2 M42x2 a 101 63.5 65 50 0.73 0.71 0.74




CB* 821—84

g% 1
. AWl AWREH
, PN '
xB| £ W o] 23 DN (DN/DN | yof/cme I
mm (MP a)
REEE h— i 8/6~25/52
Bl mams 1 ' B !
F _:‘
<16 m W
& #
(<1.57) s b
i !- - 3~32
P meams ;:
2
# *
& A it R
4% K RE
B W G HE. Bk, ZBRR<IT0CHES
H# # Q B K
P ER N b 31174

2 FRidRB

DN =20mm » WHF AR b A R 3k
BaEsL A20G CB*821—84-

DN =20mm , RE 4 AR AU Sk bE A SR80 &
BadEsk B20J'N CB* 821—84

DN/DN’ =15/20mm BIFE§ RRAELHE L,
ek E15/20Q CB* 821—84

DN =20mm, N8R N EFEEAROBRRE RS L.
WAL F20ZG-CB* 821—84



CB* 821—84

6 CHXEVRRIUELNERR TH&E ML 6.

WEFORTS,

g
S
A 3
% 6 mm
~ W N E 7 5 SMER RFEFORT E B kg
& 2 VI
DN dw D L~ D=~ S S, B #HH H?EW
3 6 M16x1.5 21.9 19 10 0.06 0.06 0.06
57
6 10 M18x1.5 25.4 22 10 0.07 0.07 0.07
8 12 M20x1.5 27.7 24 12 0.10 0.09 0.10
63
10 14 M22x1.5 31.2 27 14 0.12 0.12 0.12
15 22 M30x2 82 41.6 36 22 0.30 0.29 0.30
20 25 M36x2 84 48.5 42 27 0.37 0.36 0.37
25 32 M 42x2 91 57.7 50 l 30 0.56 0.54 0.56
32 38 M 48x2 93 63.5 55 38 0.62 0.60 0.62




CB* 821—84

7 DRSMEY BRGUELNERR T RE 4R 7.

)
¥
s
4
&1 mm
A RN B % £ ¥ R ¥ RFHF & ks
& 2 n 8 AR+t
DN dy D L~ D\~ s B &R 53¢
3 6 M16x1.5 21.9 19 0.04 0.03 0.04
6 10 M18x1.5 @ 25.4 22 0.05 0.05 0.05
8 12 " M20x1.5 27.7 24 0.06 0.06 0.06
10 14 M22x1.5 © 31.2 0.08 0.08 0.08
15 22 M 30x2 41.6 0.19 0.18 0.19
20 25 M36x2 » 48.5 42 0.22 0.21 0.22
26 32 M42x2 57.7 50 0.35 0.34 0.35
32 38 M48x2 " 63.5 55 0.37 0.36 0.37




CB* 821—84

[
8 ERRRV BBGUELOEIERTHESHE 8,
1
=
5
* 8 mm
NN WE 7 a SNER wREIF B i kg
M IR+
N 44
%?vk Fg’;ﬁ dy D L~ D\~ S BT HH | B
6 M 18x1.5 39 25.4 22 0.05 0.05 0.05
3 6
8 0.06 0.06 0.06
M20%1.5 27.7 24
8 0.06 0.06 0.06
6 10 42
10 0.08 0.08 0.08
M22x1.5 31.2 27
10 0.08 0.08 0.08
8 12
15 0.17 0.17 0.17
M30x2 41.6 36
15 0.17 0.17 0.17
10 14 51
20 0.22 0.21 0.22
M 36x2 48.5 42
20 0.23 0.22 0.23
15 22
25 0.35 0.34 0.35
M 42x2 57.7 50
25 0.34 0.33 0.34
20 25 55
32 0.38 0.36 0.38
M48x2 63.5 55
25 32 32 0.38 0.37 0.38




CB* 821—84

9 FHREMEERGELNERR THE 6% 9.

RFFORGS,

I— [ > Lo ~
—eth-at oo | P s
/y Y
N
L
& 6
# 9 mm
o | we | 8w HE ASRE s | T £ B ke
@ | aie
Z D
v A ) g5 .| wm
#f lo L~ D\~ S S PR H B8N

3 6 M16x1.5 G1/8 8 65 21.9 19 17 0.07 | 0.07 0.07
6 10 MI18x1.5 G1l/4 12 69 25.4 22 19 0.10 0.09 0.10
10 14 M22x1.5 G3/8 76 31.2 27 24 0.16 0.16 0.16

14
15 22 M30x2 G1l/2 91 41.6 36 32 0.35 0.34 0.35
20 25 M36x2 G3/4 16 94 48.5 42 38 0.44 0.43 0.44
25 32 M 42 x2 G1 99 57.7 50 45 0.65 0.63 0.66

18
32 38 M 48x2 G1l'/, 101 63.5 55 50 0.73 0.71 0.74




CB* 821—84

10 FasEsk (0D # RH&E 7 0% 10,

H{V3
30°
Ve 2
"
5| 2 Il
-]
VAVAD AV A e
LK
L
B|7
# 10 mm
A K B B %3 # B ke
& B
DN L Iy d, d: d, %@q ﬁaﬁ R ﬁﬂ
3 13.8 6 ] 0.01 0.01 0.01
30
] 15.8 9 10 0.01 0.01 0.01
5
8 17.8 11 12 0.02 0.02 0.02
32
10 19.8 13 14 0.02 0.02 0.02
15 27 19 22 0.07 0.07 0.07
40
20 ] 33 24 25 0.07 0,07 0.07
25 39 29 32 0.11 0.11 0.12
42 : '
32 45 36 38 0.12 0.12 0.12

10



CB* 821—84

11 REBVEAEL (02 WR~#EE sfFE 1L

H&V3
,ﬁ; 2
var s =
s ¥ 5[ Il s
<
_‘ r4 5
Iy I, lxm
L
K 8
* 1 mm
A K Kk -4 H % E B kg
& #»
DN/DN’ L L i2 15 d d: d; da BN HH | BBEW
3/6 26 4 15.8 9 10 0.01 0.01 0.01
6
3/8 0.02 0.02 0.02
17.8 11 12
6/8 1 0.02 0.02 0.02
| 28 5 5 10
6/10 0.02 0.02 0.02
19.8 13 14
8/10 0.02 0.02 0.02
12
8/15 0.05 0.05 0.05
27 19 22
10/15 0.05 0.05 0.05
32 6 16 14
10/20 0.07 0.07 0.07
| 33 24 25
15/20 0.08 0.07 0.08
6 22
15/25 0,12 0.11 0.12
39 29 32
20/25 0.10 0.10 0.10
35 7 18 25
20/32 o013 0.13 0.13
45 36 38
25/32 32 0.14 0.13 0.14

11



CB™ 821—84

12 SVERE (03) PR-THEE IfnE 12,

HA&V3
30° 30°$
14,
3| sl - ol & < __—
%
'V A,
N\ 1%45°
f
Is
s 4
1
L
& 9
* 12 mm
’Aﬂﬁﬁ&&ﬁ =1 (3 BN A # B kg
T - an
DN b L|tts] do di D ds | rls| D | R | &W
£k
3 M16x1.5 6.5 14.4+g~12 18 16.3 19§ 21.9 | 0.03 | 0.03 [ 0.03
22| 18] 12 -
6 M18x1.5 10.5 16.4*3-12 21 18.3 22| 25.4 | 0.04 | 0.04 | 0.04
3
8 M20x1.5 12.5 18.4*3-14 23 20.3 24| 27.7 | 0.05 | 0.04 | 0.05
24119/ 13
10 M22x1.5 14.5 20.4*g~14 26 22.3 27| 31.2 1 0.06 | 0.06 | 0.06
15 M 30x2 22.5 27.8"?)-“ 34 30.4 36| 41.6 | 0.12 | 0.12 | 0.12
31|25/ 18
20 M36x2 25.5 33.8*3-17 40 36.4 421 48.5 | 0.15 | 0.14 | 0.15
5
25 M42x2 32.5 39,s*g-17 48 42.4 50| 57.7 | 0.23 | 0.23 | 0.23
33|26 19
32 M 48 x2 38.5 45.8*8-'7 54 48.4 55| 63.5 | 0.24 | 0.23 | 0.24

12



CB* 821—84

18 rEagarsEsk (04) FIRSH B 10R1% 13,

H&V3
30° | 30°
30
uy
>
Q| 3|3 - < €| < 1 S
<
//( )
ls r
oo s, 0
2 ]
& 10
#* 13 mm
»n W 8 k B H 2 B Paiif: # B kg
& © an
DN D L|i]ls|l:] dy |de|D:|Ds| 4 18] b, | HE e
3 M16x1.5 6.5 | 6)16]10] 13.8 ¢ 17] 19.6 | 0.03 | 0.03 | 0.03
26] 16| 6
6 MI8x1.5 10.5 | 9 (18| 14] 15.8 19] 21.9 | 0.04 | 0.04 | 0.04
2 3
8 M20x1.5 12.5 {11} 20| 16| 17.8 22| 25.4 | 0.06 | 0.05 | 0.06
3] 17| 8
10 M22x1.5 14.5 | 13 22| 18| 19.8 24| 27.7 | 0.06 | 0.06 | 0.06
15 M30x 2 22,5 [ 19] 30| 28| 27 32| 37 0.14 | 0.14 | 0.14
38| 23] 10
20 M36x2 25.5 | 24] 36|30 33 38| 43.9 | 0.19 | 6.19 | o0.19
3 4
25 M42x2 32.5 |29 42| 34| 39 45( 51.9 [ 0.22 | o.21 | o0.22
421212
32 M48x2 38.5 | 36|48 44| 45 501 57.7 | 0.27 | 0.26 | 0.27

13



CB* 821—84

14 FEARGHEL (05) MRSTHRELAR 14

KA&V3
30° 303 1
[‘; 1x45° [_
75 _
al s 5|3 s|slel— + | &
<
// A va
Iy i If)
2 H 1y
L
B 11
# 14 mm
;?; 7 & ¥ ® | HR B oM Afik | E R ke
5 k-
® D Do Ll el |delps] di | dr | ds nts.| b, | 8w | a8
DN £k
3 | Mi16x1.5 | M10x1 |36 8 6|17/ 13.8]10.5| 8.5 2|17)19.6]0.03]0.03] 0.03
16 —
6 | M18x1.5 | M14x1.5{ 40 9 19]15.8] 14,5 11.8 19] 21.9]0.05{ 0.05 | 0.05
12| 2-}—
8 | M20x1.5 | M14x1.5( 43 11]22]17.8]| 14.5] 12 22| 25.41 0.06 0.06 | 0.06
17 p— 3
10 | M22x1.5 | M18x1.5| 45 13] 24| 19.8] 18.5( 15.8 24} 27.710.0810.08] 0.08
14
15 | M30x2 M22 x1.5] 52 19| 32| 27 | 22.5] 20.3 32|37 |0.16]0.15] 0.16
23—
20 | M36x2 M27x2 |55 16 24| 38| 33 [27.5] 24.8 38| 43.9] 0.22{ 0.21 0.22
3
25 M42x2 M33x2 |58 291 45| 39 | 33.5) 30.8 4| 45]51.9]0.30] 0.29} 0.30
24| 18
32 | Md48x2 M42x2 |60 36| 50| 45 | 42.5( 39 50} 57.7| 0.37| 0.36| 0.37

14



CB* 821—84

15 XERGEL (06) MR A 1270% 15,

HAV3
w) A-A
N RSIA
~]
2] 4] -
< —]
)4
|4
'1 ll
T
2 !
L
A 12
% 15 mm
A K| B u ¥ 3 HE "F E OB
o
. Rt @
DN D L1 |||t | d |de| ds s, | ¥ | &HE
£k
3 M16x1.5 13.8 | 6 0.02 | 0.02 | o0.02
28 10| 2 12 10
6 M18x1.5 158 | 9 0.03 [ 0.02 | 0.03
- 4] 2
8 M20x1.5 17.8 | 11 14 12 0.03 ] 0.03 | 0.03
32 13 ] 3
10 M22x1.5 19.8 | 13 17 14 0.04 | 0.04 | 0.04
15 M30x2 43 18 | 4 27 19 25 22 | 011 0.1 0.11
20 M36x2 45 20| 5 33 2 31 27 0.15 | 0.15 | 0.16
20| 3
%5 Ma2x2" 50 2 | 39 | 29 36 30 | o.21 | 0.21 | 0.
32 M48x2 52 25 9 45 36 4 38 0.25 | 0.25 | 0.26

15



CB* 821—84

16 FUELEsl (07) MR 13F1 £ 16,

HeV3
307 BOQJ-‘
g 1X45°
N3 /7 N
Qw;jfg—————— | 5| E|—u>} | &
3
= -
77
I f f
2 1 Iy
L
A 13
# 16 mm
:5:; i o k ® | R BOOM Ak | & B ke
8 S
7. D
& D AL et ]delD] a0 | a0 | ds Alsi o || se
DN g : B
3 | M6x1.5 | G1/8 |36 8 6|17]13.8 10 | 8.5 2| 17]19.6] 0.03] 0.03| 0.03
16 —
6 | MI8x1.5 | G1/4 |40 12021 919]158] 14 |11.4 191 21.9] 0.05] 0.05] 0.05
10| M2x1.5 | G3/8 |45]17 13| 241 19.8] 17 | 14.9 3| 24]27.7| 0,08 0.08] 0.08
14
15 | M30x2 Gl/2 |5 w32 27| 2] 19 32|37 |0.16]0.15] 0.16
23 +—
20 | M36x2 G3/4 |55 16 24| 38) 33| 27 | 24.2 38| 43.9] 0.22} 0.21] 0.22
3
25 | M4zx2 G1 58 290 45| 39 |33.5/ 30.3 4|45]51.9]0.30] 0,29 0.30
24| 18
32 Md48x2 G1l'/, 60 36{ 50 45 | 42.5| 38.9 50| 57.7] 0.37] 0.36] 0.37

16



CB* 821—84

17 A#A (08, 09, 10) AYR & 14703 17,

MEFAHRERER (08, 09) REGSHAR 10

IAE

14
% 17 mm
VAR B 2 1000 M E B kg
& 2
DN d, ds W K ARRIBR EHEOH
3 14 6 0.32 0.38 0.45
6 16 9 0.35 0.41 0.68
8 18 1 0.41 0.48 0.83
10 20 13 0.46 0.54 1.17
15 27 19 0.74 0.87 1.43
20 33 24 1.03 1.21 1.65
25 39 29 1.36 1.60 2.18
32 45 36 1.46 1.72 2.73

17



CB* 821—84

18 SMER (11, 12) IR B 15501% 18,

mm

AN i % 1000 B8 ke

T _

DN D, d- gfﬁ’g woo
3 17 10.5 0.42 0.36
6 21 14.5 0.49 0.42
8 22 14.5 0.65 0.55
10 25 18.5 0.67 0.57
15 32 22.5 1.22 1.04
20 38 2.5 1.62 1.38
2 45 33.5 2.13 1.81
32 52 42.5 2.12 1.80

19 REE F RO LR FAREER,
20 WOHSLHEET RARAS VR, HHRAKIED, RERORENEQEMREIRS, R
+. ERRSI.
21 ITRGARERGESL, i BA /NGO R B W R,
22 EBHBRGUELNRE FIRE.
a. HlET AR
b. AIREHERR SRS,
c. EFHS,
d. RESKAE,
28 BRATHNFEHHRERIR Lk Ao

B AN 58 ER .

Abre & R AER Y, BAERKBTIH0.
KirfEH PSR AftRE,

A EEREAGHSE.
AVRUEE RE T 19754,

ARBITEENE:

@ ¥mE R gL,

@ BMBE AR A Sk A S E R AR B R,
@ FRICRBIP X B BN RET T XS -



